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Guess Paper - 2007

Mathematics

Class - X
TNo:

Nq: 25
       MM: 100

Ta: 3.00+15 hrs    

                     Dt.  18.11.06
Tc: C1
SECTION: A

(3 marks each)

Q1.
Solve the equations:
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Q2.
Solve for x: 
[image: image3.wmf]6

1

2

1

1

=

-

+

-

x

x

x

x


Q3.
Find the   G.C.D. of 
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Q4.
Reduce in simplest term: 
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Q5.
A Motor bike is available for Rs. 44200 and  Cash down payment of 30,000/- following with 3000/- monthly instalments of  5 months. Find the rate of interest calculated.

Q6.
 How many terms of the A.P. where first term is -3 and sum of four consecutive terms is 6 and last term is twice of  6th term.

Q7.
A sum of Rs. 30,000 is to be paid back in 3 annual instalments. How much is each instalment , if the interest is compounded annually on the balance at 22% p.a. and is to be included in each instalment.
Q8.
Simplify 
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Q9.
In the figure [image: image8.png]


BAC = 30o. Show that BC is equal to the radius of the circum-circle of [image: image9.png]


ABC whose centre is O.
OR

P and Q are points on sides AB and AC respectively of triangle ABC. IF PB is twice of the AP, and QC is twice of AQ then prove that BC is thrice of PQ.
[image: image21.png]cbseﬁguess
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Q10.
In the given figure chord PQ and RS of a circle intersect at T. If RS = 18 cm, ST = 6 cm and PT = 18 cm, find the length of TQ.  

SECTION: B
(4 marks each)

Q11.
Solve for x and y  
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OR

Solve the equation by graph 
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Q12.
A die is thrown twice find the probability of the sum of outcome be (a) even (b) not less than 5.

Q13.
The volume a cylinder is twice of volume of a sphere. If the curved surface area cylinder is 
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  times  that of sphere. The ratio of height and radius of cylinder is 2:3. Find the volume and total surface area of cylinder.
OR

Find the cost of material used in a conical head and hemispherical based cylinder, height is 4/3 times of radius of base ? The total height is 14 cm. and slant height of the cone is 4cm. The cost of material is 4.5 /sq. cm.

Q14.
Rs 500 dived into two parts such that the we added one in square of the ratio of larger part to smaller part, is 1/50th part. Find the distribution.

Q15.
Construct a quad. ABCD in which AB = 2.5 cm BC = 3.5 cm, AC = 4.2 cm, CD = 3.5 cm and AD = 2.5 cm. Construct another quad. AB'C'D' with diagonal AC' = 6.3 cm such that it is similar to quad ABCD. 
Q16.
The vertices of a triangle are (-2,1), (2,3) and (1,-3). Is the triangle equilateral, isosceles or scalene ?

Q17.
Find the ratio in which the point (11,15) divides the line-segment joining the points (15,5) and (9,2).

Or


Find the third vertex of a triangle, if two of its vertices are (-3,1) and (0,-2) and the centroid is at the origin.

Q18.
The mean of the distribution is 12, find the value of X and f. 
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 = -70:

	Marks
	0-10
	11-20
	21-30
	31-40
	41-50
	51-60
	61-70
	Total

	Frequency
	12
	8
	F
	15
	5
	4
	6
	X


Q19.
Prove that 
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Or

Without using trigonometric table, show that:
tan 7o . tan 23o . tan 60o . tan 67o . tan 83o = [image: image17.png]


3 
Q20
The percentage of various categories of workers in a state is given below:

	Category of workers
	Percentage

	Research
	20

	Medical
	25

	Engineering
	30

	Construction
	15

	Others
	10

	Total
	100


SECTION: C

(6 marks each)

Q21
Prove that the ratio of the areas of similar triangle s is equal to the ratio of the squares on their corresponding sides

Using the above, do the following

The area of two similar triangles ABC and PQR are 25 sq cm and 81 sq. Cm respectively. IF BC =2.5cm, find the length QR          .
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Q22
Prove that sum of either pair of opposite angles of a cyclic quadrilateral is 180o. Using the above solve the following:
 In fig POQ is a diameter and PQRS is a cyclic quadrilateral. If [image: image18.png]


PSR = 150o, find [image: image19.png]


RPQ.
Q23
A bucket in the form of a frustum of a cone. Its dept is 24cm and the diameter of the top and bottom ends are 3:1. Find the capacity of the bucket if the slant length of the bucket is 
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OR


50 persons took dip simultaneously in a hemispherical pit which has radius of 14m.  What  is the rise in the level of water in the pit if the average displacement of water by a person is 4000 cubic cm.

Q24
A bird is sitting on the top of a tree, which is 80m high. The angle of elevation of the bird, from a point on the ground is 45. The bird flies away from the point of the observation horizontally and remains at a constant height. After 2 seconds, the angle of elevation of the bird from the point of observation becomes 30. Find the speed of the flying of the bird.

OR


A man on the roof of a home, which is 10 m high, observes the angle of elevation of the top of a building as 42o and angle of depression of the base of the building as 40o. Find the height of the building and its distance from the home
Q25
Dr. Salim is a senior citizen aged 67 years. He earns Rs. 21000 per month. He donates Rs. 6000 to PM Relief Fund and 4000 to an education institution. He contributes Rs. 60,000 towards PPF and purchase NSC worth Rs. 15000. He pays income tax of Rs. 600 per month for the first 11 month of the year. Find the income tax to be paid by him in the last month of the year. 
a) Standard deduction:  
NIL

b) Rate of income tax :

        
 Slab 


                                     Income tax



i) Up to Rs. 1,35,000


No tax



ii) From Rs1,35,001 to Rs. 2,00,000  

10% of the amount exceeding Rs. 1,35,000



iii) Upto 2,00,000

 

Rs. 1500 + 20% of the amount exceeding Rs. 2 lakh

c) Rebate in income tax :



 i) 100% of the amount of saving subject to maximum Rs. 1 lakh

ii) 50% rebate on  donations

d) Cess 2% of the net income tax paid
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